
Sample of Simplifying a TPRS story (1 is simplest) 
By Kathryn Michel 
 
1. Fox has a long tail.  
But Coyote does not have a long tail. Coyote cries. 
 
 
2. Fox has a long tail. 
Fox laughs. 
Coyote does not have a long tail.  
Coyote cries. 
 
 
3.  
Fox has a long tail. 
But, Coyote does not have a long tail. 
Coyote takes Fox's tail. 
Coyote laughs. 
 
 
4.  
 
Fox has a long tail. 
Coyote does not have a long tail. 
But Coyote wants a tail. 
Coyote takes Fox's tail. 
Coyote laughs. 
But Fox cries. 
 
 
 


